ﬁ % ﬁ ‘i' Esponenti negativi di 10

Nome: Data: Punteggio: __
661,6+ 1073 = 181,9 x 1002 =
572,7+ 1073 = 3% 100 =
176,5 x 100 = 100D =
376,2+ 107 = 217,6 % 1003 =
3x 1002 = 519,5+ 10> =
1004 = 6% 10% =
455,2 x 1002 = 1004 =
429,3 x 1073 = 437 x 1003 =
—1x 1009 = 321,9+ 100 =
7x 100D = 1003 =
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TEHEE

Esponenti negativi di 10

Nome:

661,6+ 107 = 661600
572,7+ 1079 = 572700
176,5 x 107 = 0.1765
376,2 + 107 = 376200
3x 1072 =0.03

107 = 0.0001

455,2 x 1072 =4.552
429,3 x 107 = 0.4293
—1x 10" = -0.0001

7x 1000 =07

Data:

181,9x 102 = 1.819
3x 1077 =03

1077 =0.1

217,6 x 1072 =0.2176
519,5+10° =5.195

6 x 10> = 600

107 = 0.0001

437 x 1077 = 0.437
321,9+ 1072 = 321900

1072 = 0.001
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Punteggio:
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